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Year 5 

45 x 23 =

9,832 ÷ 13 = (with remainder)
1/8 + 3/4 =

1/8 x 3/4 =

3/4 ­ 1/8 =

3/4 ÷ 1/8 =
13/4 = (as a mixed number)

234 x 42 =

47,129 ÷ 25  = (with remainder)
23 + 7 x 8 =

32 x 36 =

7,821 ÷ 14 = (with remainder)
1/12 + 5/6 =

2/5 x 11/14 =

3/5 ­ 1/20 =

9/10 ÷ 8 =
36/5 = (as a mixed number)

456 x 29 =

34,789 ÷ 25  = (with remainder)
23 + 40 ÷ 8 =

10410

Year 6

454 x 23 =

349,832 ÷ 13 = (decimal 3dp)
7/12 + 3/4 =

7/12 x 3/4 =

3/4 ­ 7/12 =

3/4 ÷ 7/12 =
54/4 = (as a mixed number)

234 x 422 =

3,247,129 ÷ 25  =
23 + 7 x 22 =

325 x 36 =

7,821 ÷ 14 = (to 3 dp)
1/36 + 5/6 =

12/25 x 11/14 =

3/5 ­ 1/20 + 3/10 =

9/10 ÷ 18 =
136/5 = (as a mixed number)

3,456 x 29 =

34,789 ÷ 25  = (2 dp)
723 + 400 ÷ 8 =

Bonus
Write your 19.5 timestable 

(keep going until you get to 1950).
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Year 5 

45 x 23 = 1,035

9,832 ÷ 13 = 756 r 4

1/8 + 3/4 = 7/8

1/8 x 3/4 = 3/32

3/4 ­ 1/8 =  5/8

3/4 ÷ 1/8 = 24/4 = 6

13/4 =  3 1/4 (as a mixed number)

234 x 42 = 9,828

47,129 ÷ 25  = 1,885 r 4

23 + 7 x 8 = 79

32 x 36 = 736

7,821 ÷ 14 =  558 r 9
1/12 + 5/6 = 11/12

2/5 x 11/14 = 22/70 =11/35

3/5 ­ 1/20 = 11/20

9/10 ÷ 8 = 9/80
36/5 = 7 1/5  (as a mixed number)

456 x 29 = 13,224

34,789 ÷ 25  = 1,391 r 14
23 + 40 ÷ 8 = 28

Year 6

454 x 23 = 10,442

349,832 ÷ 13 = 26,910.153

7/12 + 3/4 = 16/12 =1 4/12 = 11/3

7/12 x 3/4 = 21/48 = 7/16

3/4 ­ 7/12 =  2/12 = 1/6

3/4 ÷ 7/12 = 36/28 = 1 8/28 = 1 2/7

54/4 = 131/2 (as a mixed number)

234 x 422 = 98,748

3,247,129 ÷ 25  = 129,885.16

23 + 7 x 22 = 177

325 x 36 = 11,700

7,821 ÷ 14 = 558.642 (to 3 dp)
1/36 + 5/6 = 31/36

12/25 x 11/14 = 132/350 = 66/175

3/5 ­ 1/20 + 3/10 = 17/20

9/10 ÷ 18 = 9/180 = 1/20
136/5 = 27 1/5 (as a mixed number)

3,456 x 29 = 100,224

34,789 ÷ 25  = 1,391.56 (2dp)
723 + 400 ÷ 8 = 773

Bonus
Write your 19.5 timestable 

(keep going until you get to 1950).
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